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Entrance Test for B.Ed. Programme 2011 - 143248
SIS, ShTdehH o T waeT udar 2011

Total No. of Questions = 100 Time : 120 Minutes
T YAl hi WEAT = 100 | : 120 fiee

The test booklet consists of two parts “A” & “B”. The total number of test items will be 100 of
one mark each.

e g & Ol fayes €, 31’ SR || uiian Tl i el ST 100 § S Y Uk 31 HE |

Subject No. of Marks Time
faw= Questions 3Tk qHT
oAl i HEAr

Part A
I A
Section [ General English Comprehension 10 10 Composite
TUE | T fet = time of
Section II Logical & Analytical Reasoning 20 20 two hours
g |1 aqfher wa favergomerss fawam ‘ T T
Section IIT Educational & General Awareness 25 25 T H
g 11 farer TE T =
Section IV Teaching-Learning and the School 25 25
Qg [V Toreror-erfamy we fammer™
Part B * Subject Competence (any one) 20 20
AT o feroeTa werwdn (ehis Uk )
Section V (i)  Science
LCLEAY fomm

(i) Mathematics

Tiford
(iii) Social Science
HrATfsies famm
(iv) English
e
(v) Hindi

*NOTE : Any one subject is to be attempted from part ‘B’.
e : U 'F | IS Uk faua e ¥
Read the instructions given on the OMR Response Sheet carefully before you start.

YEFHH T 78l OMR Ia-93 W fau e fadei 1 sy ufeu
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HOW TO FILL UP THE INFORMATION ON THE OMR RESPONSE SHEET
(EXAMINATION ANSWER SHEET)

OMR 39T-UF UT ol WA & e91

1.  Write your complete Enrolment No. in 9 digits. Also write your correct name, address
with Pin Code in the space provided. Put your signatures on the OMR Response Sheet
with date. Ensure that the Invigilator in your examination hall also puts his signatures

with date on the OMR Response Sheet at the space provided. You should use HB Pencil.
IO g AW HEe (TeHe TeR) 9 ol ° fafeu ) fed v o saer we A 9
Fre Ffed da1 of fafew) OMR sR-19 R fafy wfed o7 zEaeR Sivg | a8 o giHfiveg =
fifSry for smoen wiien e % e 7 OMR SW-w W fou 1 o = fafy ofeq s=mer
X fed €1 s HB dfae 1 wan s =feu

2. All information is to be filled up with HB Pencil. The circles corresponding to the digit

are to be darkened with an HB pencil.

T go HB Ufae g vl S =ifen ) ol % a9l sl HB et 9 € shen & B

3. Do not make any stray remarks on this OMR Response Sheet.

TH OMR STR-T3 W g Eifoq femforal o from =& e

4.  Write correct information in numerical digit in Enrolment No. and Examination Centre
Code columns. The corresponding circles should be dark enough and should be filled in
completely.

AHIFT HEA SR GOET R HIS G Hieml SRl § we gEe fafaw) g g gat me
T =few 3R g8 wWe | W T e =eu |

5.  Each question is followed by four (or less) probable answers, which are numbered 1, 2, 3
and 4. You should select and show only one answer to each question considered by you
as the most appropriate or the correct answer. Select the most appropriate answer. Then
by using HB pencil, blacken the circle bearing the correct answer number against the
serial number of the question. If you find that answer to any question is none of the four
alternatives given under the question you should darken the circle ‘0.
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TeIE 99H o 91e IR (A KH) Hufad ST ¥, S 1, 2, 3 9941 4 g fwfua R o ¥ uee
TE IW WG © | AU IT® S G| acwEr. HB YRR % AN 51 WS % REIE h
A HEl TR HET 9l g9 i el & | Afg 3y U § fF yvE F A o3 \w fawen
o g w1 offt 98t IR TR & @ SA9R g9 0’ HI HION HEA A6

6. If you wish to change your answer, ERASE completely the already darkened circle by
using a good quality eraser and then blacken the circle bearing your revised answer
number. If incorrect answer is not erased completely, smudges will be left on the erased
circle and the question will be read as having two answers and will be ignored for

giving any credit.

Ifg 39 *E IW H FCAN =8, A T8 H 2wl R g9 H TEH TS U ard WRH
T e fyer SifSu IR genfya I Fen amt g9 &1 &wen & | afe Tad W R [T W@
Tel  faermn o a1 fred g9 # Fo fom w© SR iR uE % @ IW fed gn we S
3R i fd w9g g8 srEter fwan s

7. No credit will be given if more than one answer is given for one question. Therefore, you

should select the most appropriate answer.
afg TF 9 & fad w9 Afus S o S q1 S i 9 fed SR ghfau sngen
Haifuss 3fad ST &1 =99 HT AfeT |

8.  You should not spend too much time on any one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering all the

questions, you may go back to the unanswered ones.

fordl wh gvd W aAfu wwa € o) Afe ekl g fafe wed wfew @ € @ 39
BIEHL A W ARY| T G FT IW < F d1¢ Afg 3M0F I 9T 7, q 3T I q9 W
T S Hhd € frEen o s el fen g
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9.  Only one subject is to be attempted from PART ‘B’.

O ‘g’ H hdd Uk & faua &Er §

You will attempt the questions as under :

Sl. No. Subject No. of Questions
. 5 s

(i) Science Q. Nos. 81 to 100
[EEIE! e @A 81 9 100

(ii) Mathematics Q. Nos. 101 to 120
wford g HE 101 | 120

(iii) Social Science Q. Nos. 121 to 140
IS CERIES g " 121 | 140

(iv) English Q. Nos. 141 to 160
SpEll Y H@& 141 € 160

(v) Hindi Q. Nos. 161 to 180
et YT W@ 161 H 180

B.Ed./2011
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GENERAL INSTRUCTION

o= gt

1. No cell phones, calculators, books, slide-rules, note-books or written notes, etc. will be

allowed inside the examination hall.
Hen el & AT FE T FH, FoFolel, T, TES-wa, A% A1 fafea I sene am
1 erEfa & ¥

2. You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions you will be

d isqualified.
e Toe 9 Y] g e i faderes g e ma fRRe @ uerm & §1 afe ey
3T o9 1 Sooted RO G AU AR =ity eI S|

3.  Any candidate found copying or receiving or giving assistance in the examination will be
disqualified. ’ '
e ® Afg w1g ghene TRe wRd gU AT Ferdl <d g AT Wi i gU 9 T d SH
A =t T smam )

4.  The Test Booklet and the OMR Response Sheet (Answer Sheet) would be supplied to you
by the Invigilators. After the examination is over, you should hand over the OMR
Response Sheet to the Invigilator before leaving the examination hall. Any candidate who
does not return the OMR Response Sheet will be disqualified and the University may take

further action against him/her.

et fAerhl gR1 wen  qfet ik OMR STR-93 fod ST | wien & 99| 29 W gden
FY BIEd ¥ YTl ATTH! OMR ITW-T3 e &1 €99 <1 =ifew | s qdamedt e OMR
IR-T3 I TEl AR 7, IH FArA =nfug e S o favafaemea sae fawg o wram
FHAT |

5.  All rough work is to be done on the test booklet itself and not on any other paper. Scrap
paper is not permitted. For arriving at answers you may work in the margins, make

some markings or underline in the test booklet itself.

Tt T FE Wi gREsR WOE TR ST iR R o S W AE | TS & FE ST
THS ®I STAAM TG T ST TH T & o mue wden gigen # wifsH § v B, I8
from e a1 3o Tgiferd w6l sTHfd ¥
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6.  The University reserves the right to cancel scores of any candidate who impersonates or
uses/adopts other malpractices or uses any unfair means. The examination is conducted
under uniform conditions. The University would also follow a procedure to verify the
validity of scores of all examinees uniformly. If there is substantial indication that your
performance is not genuine, the University may cancel your score.

favafaarer fed t@ anef & ymwie fe @ #1 IfUsR TaEdt € S SHEY UR0T HIa
® 91 T I GUER ATA € A FAN HIO ¥ A STAfET W YA wAT T e THEEE
feafedl & arefi ganfera 1 1 W@ 21 favafaaem ot whenfefal & gl = qraa wweEH
w9 4 Srem &1 feafafy sroameh | afe gate @a § fo emue frsaeq stoett =i €,
forvafaemera smes ymis freed o whdt 1

7.  Candidates should bring their hall tickets duly issued by the Registrar: In the event of
your qualifying the Entrance Test, this hall ticket should be enclosed with your admission
form while submitting it to the University for seeking admission in B.Ed. Programme
along with your testimonials and programme fee. Admission forms received without hall
ticket in original will be summarily rejected.

et & F@ wfem g0 I fv T g fewe @ =few) afg smo waw wden # Ay
i frd WA § @ e FEEE § vAv ¥ fvafimem § o9 wEO-TE 9 9 Ie o
T UH] Ja¥ HH F WY 3W T fewme 1 o s =few) s yaw wiH fa q@ e
fere & ym ol 9N 3R SuEd 9 W) fm w1 e s
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et arex

Ca) - T & ER ueh faamca

T

qUnTa % e fedi o1 oo Hemifaio g’ # gen ¥ 1 U T 5y forsy e ¥ 3=, fay
G o1 A1 SIS A HT 91 Hel | g IULY' VG TUNTA Tl FHT FAiTch 5 7 F off T I AT I Hi
SHITITE e b1 | Sl 270 Tl | oheft off o 721 fodman | =i 37 &1 9arn {3 o 3197 YRR &1 sifees
=T % el | el ¥ 1 vl W H < A geT fh o gu & fore e 3fea ®1 iadgs 3 e
Tagr TR STo T W Wisl | 37O iR T S| S9AT STIeHT Sht YR H SIS, e Rt IR0 H SIS | -
¥ SR faa &1 3RV & Wil 1 9U-USH H |

FuieRTel 1 I TR qemTd dued @i s fafesiadi o 9fa aunT s S o, sufan 5% o9
fyer-om e e faar o1 1= % ST T AT TaH! 1 e | Svnedt § fegolt T sl T s
srefa <t off | famr faes & &3 Aecyol g7 avnet # € ™ ™ T

re T % Fehe uge fus] T 1 Heifud X g5 3 gueman fF i ot S 4 € R Hergen &%
A e, IuRwr enfe 1 el - wiifa THe q9 e o S whar ¥ wee # fordt giodt o e srel
FehTer R 3ok STHHR 9o &1 Haad ¢ 319 T W 279 FHoare! IiAn | s99 o 1 UM T&i-9a gl
21 zufere o o1 St St o1ed frehter =few | JemTa % STER 39 SER H fosensiter gt 9d € S 9n
T HIAT R | ST AR FETYEH R el sl ki TS aoh THH Sk gRI-Ta@d T T W e § a8
To8 e G T IS wed 91l SAfad & g ¥ kel ae e SR wiifores 21 €1 S SR wer
Y Sfge g% ST 2| U 9ol F 9@ 9 Tkt ge o o w9 8 § | SRl gl § fagame g ® qen <9
AT 1 B T h A S S TR § 1 TS Te s g5 ok ¥ 2

1. TUWQ %l 3Ie9’ I6E A g1 ?
1) & 3wy 3 H faver =& wd 4
(2) W IRY H T FHIET 57 9 § W= H F Tl e |
(3) YRREIEH G SleH H e H SHE I W A
(4) =T % Sied & e 39w | desht wyfa weey §
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2. The significant feature of a continuum, according to the passage, revolves around :
(1)  the divisibility of the interval between any two points
(2) an ordinary ruler’s caliber for marking
(3) its unending curve
(4) its variety of co-ordinates
3.  The purpose of this passage is to highlight the point that :
(1) pilots and sea captains have something in common
(2)  stockmarket charts may be helpful to physicists
(3) the fourth dimension is time
(4) non-mathematicians are often afraid of the common place
4. According to the passage, an airline’s traffic manager depends upon all the following
except :
(1) latitude and longitude (2) altitude
(3) the time co-ordinate ~ (4) the continuous curve in co-ordinate four
5.  The underlying tone of this passage is :
(1) persuasive (2) differential (3) candid (4) instructive
6.  According to the author, if one wishes to portray a physical event in which motion plays a
role, one has to :
(1) make use of a time table (2) indicate how position changes in time
(3) describe it graphically (4) be aware of altitude, latitude and longitude
7.  The sea captain’s example has been cited in order to :
(1)  help understand a two dimensional continuum
(2) set up a logical progression
(3) mitigate the gap between the engineer and pilot
(4) to sustain our interest in the reading of the passage
8.  ‘Feeling’ in the first paragraph is :
(I) a noun (2) averb (3) a gerund (4) an adjective
9.  In the first paragraph, ‘mysterious’ is :
(1) anoun (2) averb (3) an adjective (4) none of these
10. In the first paragraph, the word ‘Occult’ has been used. Which of the following does not
come under occult ?
(1)  Physics (2) Mathematics  (3) Chemistry (4) All of these
B.Ed./2011
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(1) 791 97 F A9 QAT 9 @IS B |

(2)  TEE 9 HOE F |

(3) I B T9F F FRN H WA FHT S S

(4) 9 F TEN Fom § AfH AfE X qF el o Tehd |
3. Sunell ® aeds % Sied @i RE-H A 6 gE 2

(1) fa7a foes =t @ g | (2) Tafsstaal & eraen fuen s fean

(3) A= ® AAAE YR =& fear (4)  T9&OT 9 T T HY SHfT <
4. mmwmﬁgwwm%?

(1) HEFER Siea 999 #3991 (2) foa wa 9 e == 9aH 91

(3) THEG I TanS w1 ATHOI FH H1 (4)  TETYEH % e 9Ol 1 Ao e A |
5. HAIIAHEAE?

(1) =g stam 9%we a9 9% | (2) S HST R GHITOT T HE |

(3)  wrHIRer i giFr (4) VS 7T Y IZYT T97
6. 39 HUR ¥ faasmyiia gof &b & 2 ,

(1) < o799 | =1 foeddt w1 7&i |Fan 2) foE=t 9fs T 2

(3) S UTHITUTE AETIEHl %1 STIHRIV HIAT 81 (4) S BT A i TS q% SR |
7. ‘mﬁmaﬁﬁﬁmw@m'wwa@%?

(1)  Afoerhdl | T F1 F3 TR AT HT |

(2) SR | FHE AT

(3) S gL TFAHG I I AT FHEA |

(4) YA 1 & AT foRE @ T HEAT |
8. ‘wHIR’ T e ‘SAaRR’ ¥ ® A T v Sk ¥ ‘

(1) =EEiE (2) wHEIE (3) SHAERIH (4) ORIl
9. TS % T ¥ Ed =l 2

(1) A== o fes A 3qya &1 (2) A FEH I IR B

) dusewAd A aMm TR T (@) A gyl €
10. ﬁw%f@aﬁqaéksﬂaa@mﬁuaaﬁ?mmﬁ%? |

(1) a«rm (2) - TiaH (3) w7 (4) foma foew
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12,

13.

14.

PART-A

SECTION-IT : LOGICAL AND ANALYTICAL REASONING

Directions (11 - 14) :

Each of the following two statements are followed by two conclusions. Assuming that the
given statements are true, you have to decide which conclusion follows strictly from the

given statements. Select your answer from the alternatives.

Statement : All boys are not students.

Some students are not employed.

Conclusions :
(I) - These boys are not employed.
(IT) - Some employed one are not boys.
(1)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (II) follow (4) Neither (I) nor (II) follows
Statements : All furnitures are pens.
All pens are pencils.
Conclusions :
(I) Some furnitures are pencils.
(IT) All pencils are furnitures.
(1)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (IT) follow (4) Neither (I) nor (II) follows
Statements : No dog is animal.

No animal is living being.
Conclusions :

(I) No animal is dog.

(IT) Some living beings are dogs.

(I)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (II) follow (4)  Neither (I) nor (II) follows
Statements : No bird has wings.

All birds are rational.
Conclusions :
(I) Wingless beings are birds.
(IT) Some rationals are birds.
(1)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (II) follow (4)  Neither (I) nor (II) follows

gcollegedunias



T -

A

WU - [ : dlfcheh Td [GYCTIUTeH: Sfag UralT

o (11 - 149) -

Frefafed ge i # 21 oA € 3R 37 &1 frepd €1 Al & 9 9Hd U, st g s €

a1 fepd fou gu el § araa J e ot 71 fashedi § 319 S g

11. <R : 9T orsh fomnedf =& €
Fe famneft TemmeEr & ¥ |
e : (1) 3 oTesh IoTTRYIET TR €
(II)  FS TSTTRIE] TTSF el & |
(1) hael (1) ATEO AT 1 (2)
(3) =M (1) 3R (1) TTHT A T | (4)
12. & : Gt w09 E
|t 99 Hfaet &)
frewd . (1) Fw TR el €
(1) 9ot el w=r €
(1) Haa (1) ATET F1 T | ()
(3) @M (I) 3T (I1) STTELT T & | (4)
13. ®UFT:  HE o FE SR T T
e oY SIFER SHiferd Jrof & §1
frerd : () HE o TR g T R
() Fw Sifad 9ol F €1
(1) aet (1) AT T B | ()
(3) BHI (I) 3R (I1) ST L & | (4)
14. weA . fordt off veft % o =8 B
[T 9aft THSIER B ¥ |
fremdd . (1) YA ol gslt en §
(1) F Ifgar it veft & €1
(1) aet (1) STTELT Ll 2 (2)
(3) =M (1) 3R (II) STTER0T &d € | (4)
B.Ed./2011

13

FHae (11) ST I 2 |
T (1) SR T E (1) SR F T

I (I1) STTELT HTT B |
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F (1) SR T & (1) AT Hd )

éﬁﬂ(]l)mm%l
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15.

Directions (15 - 18) :
In the following questions a series is being given. Select from the alternatives the correct term
to fill in the missing term.

(1 22 (2) 19 (3) 20 (4) 21
2 3
16 B 555 5
M s @ 35 ©) 2575 SN TNE
17. 315,39, 75, _
(1) 93 (2) 101 3) 99 (4) 123
18. 25, 25,27,22,30,19, 34,16, _____.
(1) 39 (2) 35 3) 32 (4) 13
Directions (19 - 22) :
The following questions are based on the following diagrams. Circles (irrespectives of the
size or location) represent objects. You have to identify which of the following diagrams
would represent best the relationship between given terms.
©@ @ 68
(A) (B) (©) (D) (E)
19. Which of the above five diagrams would best represent - Musicians, Instrumentalists,
Violinists ?
1) (A) (2) (B ©®) (©) 4) (B
20. Which of the above five diagrams would best represent - People, Painters, Boys ?
1) (B 2) M) () (A) 4) (B
21.  Which of the above five diagrams would best represent - Mothers, Fathers and Teachers ?
1) (A) 2) (B 3) (D) 4) (B
22.  Which of the above five diagrams would best represent - Men, Women and Children ?
1) (A) ) (©) 3) ® (4) None
B.Ed./2011
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fHder (15 - 18) :

frafafed wedl 7w sgen & 1 @ § 1 fogqa 95 v F o wed ue faweat @ gfw

15. 5,7,10,11,15,15,20, __ 2
(1) 22 2) 19 3) 20 4) 21
2 3 4 5
6. B 55525
6 | 7 6 7
1) 35 @) 35 ©G) 2575 4 55
17. 3,15,39, 75, .
1) 93 (2) 101 3) 99 (4) 123
18. 25,25, 27,22, 30,19, 34,16, .
1) 39 2) 35 (3) 32 4) 13
feer (19 - 22) :
frafafaa ye fau o smal, g (= omeR sten feafa Fo ot ¥) X eneiia € S el
frefua #2d €1 119! 98 YeuH ! © T frefafea o 9 s onw few e vl & o9 ge
37oS1 HeY YRIa SO |
D B0 8
(A) (B) © (D) (E)
19. ST UTHE SR H ¥ R 3G GiiqhRi, S1esh, arafereraen @ Frefad s ?
1) (A) 2 (B) @) (© 4) (E)
20. SYY °rE SR H | R @ Al ferenrl iR oiewl w wag o= frefud s ?
1) (B 2 (D) (3) (A) 4) (B)
21. 394 99 ARGl § | S e A, st o st B way oot frefug s ?
1) (A) 2 (B @) (D) 4) (B)
22. I 9T ARG H W B NG - To, Afecnsit iR srerhl w1 wod oo frefud wom?
(1) (@A) 2 (© (3) (® (4) =T
B.Ed./2011 !
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Directions (23 - 26) : .
In the following questions, there are two sets of figures. You have to find a figure from the
answer figures which can best suit the question figure series.

23. ’
?
(1) (2) 3) (4)
24, 10008 | 98 | 0 | (0000 AT | QU | 0 | 00y
— —
ATEEO | TTTTY| 7AT00 | 7500 TV | I | IO | 70T
(1) (2) 3) 4)
25. |
| g |7 |00y X ||| o
(1) (2) 3) (4)
26. -
| e . AT Y S| TAY
J‘—l—é I——0 ! | l—f—o |
1) (2) (3 (4)
1
27. A student gets one mark for every correct answer but 5 mark is deducted for every wrong
answer he gives. In 108 questions his total score is zero. How many questions has he answered
wrong ?
(1) 27 (2) 30 (3) 81 (4) 54
28. Identify the odd member of this group ? ‘
(1) 13 (2) 61 3) 73 4) 69
29. Inthe following arrangement of numbers how many times 5 is preceded by 4 but not followed
by 7 ?
4571254645475456574
() A 2r - 2 ¢ 3 “4) 4
30. If
SHAPE is BURST
BORE is XLKT
CLIME is YAPCT
then BISHOP can be coded as :
(1) XPBULS (2) XEPLST (3) XPALUE (4) XPBVLT
B.Ed./2011
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Aot (23 - 26) :
frfafad T § STl & o T €| SR SR SAHaAl § T TH TSI T FHE & W A
S et o faege g 2

23.
?
(1) (2) 3) 4)
24, |\ 00000 2000 | \8900 |\ 9000 , AT | | A |
AR | TR AT | AT | AT | e | rees | T
1) ) 3) 4
25.
(1) (2) &) (4)
20 Lt e T |v47|iysd| iy
rlj:i&u——o? g‘h?d““*’h?
®n - @ ©) )
27. @ﬁ@ﬁuﬁ%ﬂﬁﬂ%ﬁm@ﬁmm%ﬁgﬁ%ﬁﬁﬂ%ﬁqﬁ%ﬁm
fau s ¥ 1 108 wwHT H, 3TH Fo wdis YA &1 3HA fRa weAl % e 3w fRw
1 27 2) 30 3) 81 (4) 54
28. TH WE & AHG WSH (A1) Hl G ST |
(1) 13 2) 61 (3) 73 (4) 69
29. wemsl ¥ frafafaa w9 § 5 e ax 4 9 v m%qﬁﬁ?mﬁm%n
4571254645475456574
(€ I 2 2 @) 3 4 4
30. dafg
SHAPE &  BURST
BORE &  XLKT
CLIME &  YAPCT
@9 BISHOP &1 $eaig ferdl < Heha & :
(1) XPBULS (2) XEPLST (3) XPALUE (4) XPBVLT
B.Ed./2011
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PART-A v
SECTION-III : EDUCATIONAL AND GENERAL AWARENESS

Each question is followed by four alternative responses. Choose the best answer and write
its serial number. '

31. Gandhiji's ‘Champaran Movement’ was for :
(1)  The security rights of Harijans
(2)  Civil disobedience movement
(3) Maintaining the unity of Hindu Society
(4) Solving the problems of indigo workers
32. The Programme of Swadeshi and Boycot against the partition of Bangal was visualized by :
(1) Surendra Nath Banerjee (2) B.C.Pal
(3)  Aurobindo Ghosh (4) Rash Behari Ghosh
33. Right to Education 2009 provides for :
(1) Free and Compulsory Elementary Education to all children up to the age of 14 years.
(2) Free and Compulsory Elementary Education to all children upto the age of 18 years
(3) Free.and Compulsory Elementary Education to all children in the age group of 6-14
years ,
(4) TFree and Compulsory Elementary Education to all children in the age group of 6 - 18
years
34. The soft smooth feel of the skin with “after shave lotion” is due to the presence of :
(1)  Alcohol (2) Glycerol (3) Menthol (4) Perfume
35. The fourth dimension in Physics was introduced by :
(1) TIsaac Newton (2) Albert Einstein (3) Galileo (4) Neil Bohr
36. Which of the following is rich in Carbohydrates, Proteins and Fats ?
(1)  Rice grains (2) Soyabean seeds (3) Mango fruit (4) Cabbage leaves
37. The main purpose of Panchayat Raj is :
(1) to create employment
(2) to make people politically conscious
(3) to increase agriculture production
(4) to make people participate in developmental administration
38. The longest sea shore line is along the state of :
(1) Gujarat (2) Maharashtra  (3) Orissa (4) Kerala
B.Ed./2011 18
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31.

32.

33.

34.

HAT-3A

WUS-1I1 : Jifereh q2T |rET=T ey
frefafaa o wos 999 % a1 =R fawey fau o §, v § gaifus S9ge W H 9 |
TSI gRT =TT T =R A< foa o fog on ?
(1) =Remi & qen sifusr
(2) HfaTa e
(3) fég T =i T wEH HE & fau
(4) sfem () S w1 T % gauE % fog

eI A qA1 s faursH 1 fatiy fve &1 famm an ?
(1)  Fqg g S (2) SEL O
(3) snfdg =M (4) T foer =™

forem =1 @AfereRR 2009 1 3RYF FAT T ?

(1) g% qen Aar yrfve fren 14 a4 a% #t 9 & et a= & oo
(2) 189 =t oY e % et ATkl ok foru qua qun AfTard fen

(3) 699 ¥ 14 T4 Tk i g % it SnereRi & fere gua qen sifard faen
(4) 6-1873d & 3 a7 o A STeTRl & fore qu e sifqard fren

* SR 9 AR TR o eI e W 3T T Syfa fre el Y sufeerfy & s gt § 2

(1) ofehrEd (2) fromia (3) Her (4) TEIH
35. ifqet # =ren AW f=fafaa § 9 feraa fean ?

(1) 9k =JeA (2) oI WA (3)  dfaferar (4) &
36. frfafaa & @ a5 s & o # wEiesge, WEH a9 @ dHi 6t sgerd @ ?

(1) =& (2) HHEEE (3) 3T H FdA (4) oM F
37. R TS 1 GBA 3239 941§ 2

(1) i &1 gom (2) AfFadi § TsHfaw =T i faw

(3) b A J gfg (4) @ T forETeTE geiEE & AR e
38. Gad o gugt fRr fore o & w2

(1) 7o (2) wERTY (3) s (4) w
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39. In India, Diamonds are found at :
(1) Panna (M.P.) (2) Golconda (A.P.)
(3)  Khetri (Rajasthan) (4) Mayurbhanj (Orissa)
40. The most malleable metal is :
(1)  Platinum (2) Silver (3) TIron (4) Gold
41. Soda water contains :
(1) Carbonic Acid (2)  Sulphuric Acid
{3) Nitric Acid (4) Carboxylic Acid
42. Who said, “The Principles (Directive Principles) should be made the basis of all the future
legislation”?
(1)  Pt. Nehru (2) Dr. B.R. Ambedkar
(3) Dr. B.N. Rao (4)  Dr. Zakir Hussain
43. Indian National Congress was born during the Governor Generalship of :
(1) Lord Ripon (2)  Lord William Bantik
(3) Lord Dufferin (4) Lord Curzon
44. Chanakya was also known as :
(1) Bhattasvamin (2)  Vishnu Gupta
(3) Rajasekhara (4) Visakhaduta
45.  Which ore of the following is NOT an astronomical object ?
(1)  Pulsar (2)  Brittle star (3)  Black hole (4) Quasar
46. Who among the following Gurus introduced the Gurumukhi script for the spoken language
of Punjabis ?
(1)  Guru Nanak (2)  Guru Angad (3) Guru Amardas (4) Guru Ramdas
47. Mudaliar Commission had focussed on :
(1)  Elementary Education (2) Secondary Education
(3) Higher Secondary Education (4) Higher Education
B.Ed./2011
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39. wRa H € Fa e €2

(1) =M (AEY) (2) TSI (3TIY WE9T)

(3) WaS (TTEA) (4) TERES (I$HET)
40. fr=fafeaa § 9 S ug gatfus st § 2

(1) wifes (2) =@ (3) w® (4) €
41, HreTa H F e ¥ ?

(1) wEMH® 3= (2) TUd & T (3)  RigeH et (4) FHEToRI(CTR 3T
42. o fora w1 wem R o Frcores fagrdl =t weft wfesa & @9 aret fafy frmfor o6 sem saman s =nfew 2

(1) 9 ¥e® (2) T 3R ITEETH

(3) T T 1@ (4) = e gEd
43. 9 YRAE UL UG F9% T 39 THF YA 1 T ST DI o7 ?

1) e A 2) e fafeem dfew

(3) e et 4) wrE F
44. ST T GEU AH FAT o7 7

(1) v (2) faopqe (3) TSERET (4) faemEmE
45. fr=fafaa & @ $e s aiets e =8 &2

(1) TR (2) foea =R (3) w=iE T (4) TR
46. el R Al S aTelt W e fefa e e S € 2

(1) 7% Ak (2) TE T (3) T FAEH (4) T THSH
47. A AFN 1 HwT fohg o o ?

(1) 9Rfyer fen (2) wmeAfaE e

(3) I=WR AreATHF fen (4) 3= foren
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48. Rashtriya Madhvamik Shiksha Abhivan (RMSA) is :
(1) a programme run by NGOs and supported by the government.
(2) a programme sponsored by donor agencies from abroad.
(3) a programme run on “no profit no loss” basis.
(4) a programme of the Government of India for Universalization of Secondary Education.
49. A committee in the post independence era that looked into various aspects of vocational
education was headed by :
(1) Ishwar Bhai Patel (2) Triguna Sen
(3) Malcom Adisheshaiyah (4) M.C. Chhagla
50. The concept of Neighbourhood schools was given by :
(1) Radhakrishnan Commission (2) Mudaliar Commission
(3)  Kothari Commission (4)  All the above
51. Basic Education was conceptualized by :
(1) Dr. Rajendra Prasad (2)  Dr. Zakir Hussain
(3) Mahatma Gandhi (4) Rabindra Nath Tagore
52. The World Conference on Education For All (EFA) was held on Jomtien (Thailand) in the
year :
(1) 1986 (2) 1990 (3) 1992 (4) 2000
53. District Institutes of Education and Training came into existence owing to :
(1) Recommendations of Kothari Commission.
(2) Recommendations of the NCERT.
(3) Recommendations of National Policy on Education (1986).
(4) Recommendations of RamaMurthy Committee.
54. Quality of school education can be improved by :
(1)  providing more trained teachers.
(2) improving text books.
(3) improving classroom processes.
(4) All of the above.
55. Education for values cannot be imparted formally because :
(1)  values are disputable (2) * there is dearth of teachers
(3) these are acquired by grown ups (4) these are caught and not taught
B.Ed./2011 2
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48.

49.

50.

51.

52,

53.

54.

55.

T Areatas e iy -

(1) T T HEHA T S TR-THRT T Foad & W 8 TR =1 9o o 2
(2) I wEET T S faRet wsifaal % wm 9wt 2

(3) T FEHH T i forr eny-foe &1 & SMUR W =eran S ¥

(4) 9Rd GIRR F1 FAFEH ¢ Foraent seva mreafae fan =1 9 difgeo 2

A I o oy o 39 |fafd e 3 sremtas foan fo fafys qeqet @i sen 9w, &1 e
I o1 7

(1) F9RUR T (2) Fro A

(3) HemH sTfewrE (4) THH. BTN

Teg faener (Neighbourhood school) &t STa&RoT foraa <12
(1) THFST AR (2)  HEfoR & (3) ISR SN (4) S [eft

S fareq &1 S=IeTT i o ?
(1) TLINETER  (2) oL g (3) e (4)  fsiger SR

w4 foren % foru fava goiem St aele (o) o gen o, fg ad o g ?
(1) 1986 (2) 1990 (3) 1992 (4) 2000

fefigae Tiege oitw TohyH Ue 2 o &1 sruinsti & onur W sifae | & ?
(1) ISR &M (2) TAHLE WA
(3) ura foen Fifd (1986) (4) Tgfd wfafa

foremerelt foran =Rt ToTer ST S S AR © 2
(1) eAferer wiwifera sreamder 9eM ik (2)  9ISHYRIh H YUR aeht
(3) e I UfhAtell H GUR clehT (4) SwgE [

el % forg fan siroenfir &9 9 76 < < wepdt =it -
(1) Hea foamerer g ¥ |
) ST T HH R
(3) 3 hAA TATH @ UK L Thd ¢ |
) HEAl T LAY T R S Hehdl, A 1 T Ugvr fRw o €
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PART-A
SECTION-IV : TEACHING-LEARNING AND SCHOOL

56. A school curriculum can best be defined as :
(1)  sum total of knowledge to be provided to learners
{(2)  the sum total of organised pupil experiences under the patronage of the school
(3) the complete array of the courses of study
(4) all the materials used to further pupil’s activities
57. The chief objective of organising work experiences in schoolis
(1)  preparing youths for future vocations
(2) establishing relationship between school and workplace
(3) providing free time to teachers after engaging students
(4) co-ordinated development of learners besides cognitive development
58. Who should select the Instructional Materials ?
(1) The teacher (2) Head of the Department
(3)  Principal of the institute (4) A committee of experts
59. Why should classroom furniture be movable ?
(1) it is easier to maintain
(2) it helps maintain discipline
(3) it suits to the different instructional needs
(4) it is economical in cost
60. What should be the primary function of a school as an agent of society ?
(1) To maintain social norms.
(2) To prepare the child for social life.
(3) To provide students understanding of their environment.
(4) To develop vocational competence among students.
61. What should be the main goal of the school learning process ?
(1)  Development of potentialities of the learner
(2) Assimilation of knowledge
(3) Development of learners in both cognitive and non-cognitive areas
(4) Development of values and attitudes
B.Ed./2011
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56.

57.

58.

59.

60.

61.

UIT-37
WUS-1V : 3TATY-31er U faeme™

e fornerdt wea=Et w gatay afvmm €

(1) == &1 9eH fohan S e 999 91

(2) fommera o e o faenfai 1 sqafea sHyfa w am

(3) e I go e

(4) o= & foran s I seW & e 3uEn | @8 S arelt w9y |t

foemerl ® SaYa & SASH H  E 38vd

(1) Fgaehi o1 9fasd o FHTH-HTS 6 L TIR FHEAT T |

(2) HE-woret qen fommeral § wwst enfyd & ¥

(3) HET UG % UYET STEATIHI i $ Wil THT ST 7|

(4)  HIHHS faRT & WY-TY STEAAA H GHAfI famE HET

Yregforer FrEI 1 =T fRe S =fee ?
(1) TeAYSH 2) favwrmeas =1
(3) HEAM & YrEH & (4) ol =61 e wfhfa

HE HI TR = (FoeeT) ST =fe |

(1) 3HH TEREE HT GIH &

(2) 3HY YA HEH W H Ferar fHerd ¥

(3) I fafim Sterfores stervaesarsti & fore suge 2ar €1
(4) TH R GH HH A L

TS % TSie o ®9 | fqener &1 qer s 3491 g1 =it ?
(1) IS AT Sl HTIH T

(2) oS AR St o ot Gam e

(3) Toenfoiai & 37 wateRer o Uid diY e HE

(4) foenferi # et drad &1 fawm we

foenerht stferms wfsman =61 g 2 @ g =nfe 2

(1) SF=A@E =t gqaaisti & faewm w

(2) T I FHE HEAT

(3) HIAMICHSE T IR-HAHTHE &3 § sTeAaisti o1 faswms s
(4) oAt aen sifvgfaal @ fawm #e
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62.

63.

64.

65.

66.

A teacher should be well versed with the theories of learning because :
(1) it helps the teacher to know the needs of the learners
(
(3) it helps the teacher to know the ways different students learn
(4) it ensures discipline in the classroom

What should be the basic determinant of a good discussion in a class ?
(1)  Skills of the teacher

(2) Knowledge of the teacher and students

(3)  The unity of purpose and interest of the class

(4) Mastery over the topic

Which one of the following can not be related to identity need of adolescents ?

(1)  Need to get higher achievement

(2) Need to be recognised
(3) Need to belong
(4) None of the above

‘MLL’ is basically an approach which assumes :
(1) all students can learn a task

(2) every learning task can’t be learnt

( objectives can be achieved if defined well

none of the above

The modern concept of Education is based on the belief that :

(1) it rely only on concrete experiences as the medium.

(2) child should adapt to the needs and goals of the soéiety.

(3) education should synchronize with child’s motives, needs and interests.

(4) academic competence should play a supreme role.

67. Probably the greatest satisfaction in teaching is :
(1) a feeling of love for and by children
(2) asense of service to mankind
(3) a secured monetary gain
(4) asense of contribution to pupils growth
B.Ed./2011
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62. T FAeg9eh & foru Afard § for 39 siferm fagidl o1 weit wifa 3= &), =41 f .
(1) T9Y 74195 1 AT H1 YIRS I 1 H Ferad fHerdt T
(2) T EATYeR] ! TSl i sAfugiaal qen stfiefaat 1 waem # werera faerd §
(3) T LATIH! h! T WA T werd faerd ® fF evedan forA-foha w9 § ¥ wehd €1
(4) TUY e STAIEA gHAfvEd g ¥

63. N H UF A= == w1 g =ask (FuRe) =@ e afee ?
(1) 37&AT9% & HRTA
(2) oFeATE AR faenfet & T #1 =R
(3) THET & A IR AT H TH
(4) fow=a =t getom

64. ol ol w0 Tem @ Freffion § & e def 7 @ g
(1) 3= IYafey 1 STavaehl (2) HEEH S Wi STEvAHA
(3) EwIfad B i SATIvAH 4) Sudw H F HE Tl

65. MLL (=AqH 31 wR) Hat ®9 ¥ Teh a1 39rH ¢ foent A ® f -
(1) et o w1 weft fereneff wva ges ¥

(2) |t eAferm FE 9@ AE S wed €

(3) aﬁ%ﬁ%ﬁmﬁﬁmﬁﬁ@@wmwm%l

(4) STgF H ¥ P T

66. Torenm =i smyfTer sTaumon 35 favar W snenfia ® fF -
(1) Weaq % ®9 § FHael o 799 & favaa g g1
(2) = ! AN 1 STEvAEde iR 24 & STFe gl et |
(3) == Wi foan sEh 3RYAl, snavasmasti aun sifefadl % erme
(4) ey e & e yfte ¥ 9 =ifew

67. TEEG: HATOT H Ee 9 €1 G
(1) =i & fau 3iR 5= gR1 e &1 9=
(2) #FE F Ffq Fa1 91|
(3) TE gifwa enfefew oy
(4) == % fow § AreE #t wrE
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68. Who would be the worst sufferer in common school in terms of scholastic achievement ?
(1) Backward child (2) Girl child
(3)  Normal child (4) Gifted child
69. Readiness of a child for a specific school subject would depend upon :
(1) his physiological maturity.
(2)  his previous academic achievements.
(3)  his motivational level and self-concept.
(4) None of the above
70. The best rationale for the use of A-V aids lies in the fact that :
(1) it facilitates teaching - learning process.
(2) it makes learning concrete.
(3) it activates our two senses.
(4) it is just other way of doing the thing.
71. ‘Epidiascope’ equipment can be used for :
(1)  seeing things clearly (2) projecting an opaque object on screen
(3) copying an object (4) enlarging an object
72. Which of the following can not be a part of a test to measure intellectual ability of a
learner ?
(1) To meet the demand of a situation.
(2) To learn and use past learning.
(3)— To solve the problems which a learner confronts.
(4) To make sound ethical judgements and moral decisions.
73.  In which area of the following maximum transfer of training is possible ?
(1)  Memorization (2) Generalization
(3) Perception (4) Habit formation
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68.

69.

70.

71.

72.

73.

Aferer 3veifen #1 gfte B/ A Tpe yonen o waifes e g 2t 2
(1) gz smew () e
(3) HER = (4) wfqTEIeA St

ferel) fafers fammerdt fawa & fou aoran fre 9t fasi =t © 2
(1) 39& IR FRasad

(2) ST g Sifersh SuctfeEl

(3) 3THT AYUIOMHF TR qAT AH-JAd

(4) SUgE | Y kel HIE AL

5799 HIEHI o YATT 1 GRIEUR 39 e W seiia € o
(1) 389 1eamqe- Aferm yishan goe &1 st &1
2
€
(4

—

U Y ATy Toet & S ¥
39 9 7RI 1 sfEen 9feRa Bt B
718 7T TRt <t Bl A 1 g8 AT T

)
)

ufyerErERT U &1 3TEnT Frafafaa § faus faw faan s 22
(1) =gl o T &Y 9 <@ % fau

(2) ferelt sTuREyita g Rl wRA T wAfE w0 % g

(3) Tordl G 1 Toha IARA & fow

(4) fordl g 1 et fem o fere

ol v =t Slifges Arar <l e & fou fafafea § 9 S 9he0r 1 9r =@ 8 9T ?

1
2

(1) fret safeafa st seeaesar &t gfd &

(2) YA eifer w1 Wi SR 39 1 3uE

(3) EHAT & THY A FTcl THENS BT THIEM A
(4) 3 Afirer fofa s

frefafaa & @ fom & o stferam stfarm et gve €2
(1) T (2) MR (3)  rEETEA
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74. Which of the following is likely to be the greatest threat to an emotionally insecure child ?
(1)  No discipline at all (2) Over-indulgent discipline
(3)  Adult - imposed discipline (4) Self - regulated discipline
75. What should a teacher do, in order to promote long-term retention ?
(1)  Avoid occurrence of mistakes.
(2) Encourage remembering the material accurately.
(3)  Use the material during discussion and provide some more advanced material.
(4) Reinforce the learning with the introduction of similar material immediately.
76. The art and science of teaching to adolescent learners is termed as :
(I) Andragogy (2) Pedagogy
(3) Teaching Technology (4) Behaviour Modification
77.  Which one of the following is the right sequence of the process of teaching ?
[ D — delivery ; E — Evaluation ; F — Feedback K — knowing the target learner ;
P — Planning |
(1) PKDEF 2y KPDFE (3 PKDFE 4) KPDEF
78. What is the basic difference between Teaching and Learning ?
(1) Teaching is mediated behaviour, learning is not.
(2) Learning is mediated behaviour, teaching is not.
(3) Both are mediated behaviour.
(4) There is no difference.
79. On a particular rainy day, your students are not in a mood to study. What would you prefer
to do ?
(1) ask them to go to the library
(2) revise a lesson
(3) organise a quiz programme on a topic
(4) give dictation
80. Which of the following would be the best way to inculcate value - co-operation among your
students ?
(1) Organise a lecture on the topic ~ (2) Organise cultural programme
(3) Organise a camp for one (4) Playing a role model
B.Ed./2011
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74. Tl serenss w9 9 srqfer 5= & fog frafafaa 8 9 o sga 921 @ 51 9 § 2

(1)  STEMEA 1 qul A9 (2) G- ST
(3) TEEhRI GRI TIET T4 STREA (4) T@EfTEEE ST

75. oSl 3TAfE S STIURO (TROT) i FQET 99 & fIT Uk STEATIe Sl 1 HTAT Fife’ 2
(1) swIfeal & afed 89 =1 g T
(2) ErEf F VG T H AG W@ F GcHIed HE
(3)  =A FIA qEA A T GANT AR 31 Frt qeaEi Ye
(4) @ 9 E AR (3|E) FN A 1 yafad S

76. TR9IR et & s1eATaq ot herl iR fasm =t o/ A fean s €2
(1)  T=grist (2) USEISH (3) cfem st (4) STEER YR

77. e Yihan % fou frefafaa § @ S sy sfaa ® 2
[D - fefaad ; B - goaisd; F - dfdgfie K — ST&3a1 sl STHAT; P — ST §4H |
(1) PKDEF (2) KPDFE (3) PKDFE (4) KPDEF

78. STeATAA 3R s W o1 TR ;M ¥ 2
(1) 3TEATIH Uh HeARy HaeRr & i =& |
(2) AfTH T ARy AR ¥, LA T |
(3) TFI & HEATY SRR B |
(4) T H HE SR A B

79. Towe fovm fem w1 ouf &1 @ €, sk foenedt ve & g # 7E ¥ 1 o9 o o Sfew wweh ?
(1) 3% el fF JEIehTerd =t 5 |
(2) fooet w1s wt TR
(3) st fowa o yearadt ot SHaE T
(4) 9d &E@ FLEF
80. AN % oA ! Il H fgenfaa w1 & fore gatam fafy @ %2
1) 38 fava W Uk SARAN H1 S
2)  WiEHiaE HTAHH I ST BT
3)  TH HY AT
4)  ofaem srfya gfaeao

~

(
(
(
(
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81.

82.

84.

85.

PART-B
SECTION-V (i) : SCIENCE

Refractive index of a medium :

(1) has no unit

(2)  has an unit

(3) has a value equal to 1 or less than one
(4) has a value less than one

Three primary colours are :
(1) red, green and yellow (2) red, green and blue
(3) green, yellow and orange (4) violet, yellow and red

Which physical quantity is represented by Coulomb per second ?
(1) charge (2)  electric current
(3) potential difference (4) resistance

A wire of resistance 2 ohms is bent in the form of a closed circle. The effective resistance
between the two points at the end of any diameter of the circle is ;

(1) 0.5 ohm (2) 1 ohms (3) 2 ohms (4) 4 ohms

The frequency of an alternating current whose direction changes after every 0.01 second is :
(1) 1Hz (2) 2Hz (3) 50 Hz (4) 100 Hz

86. How much solar energy will be received by 1 m? area in one hour ?

(Solar constant =1.4kW/m?) :

(1) 1400x1 ] (2) 1400x60 ] (3) 1.40x60x607] (4) 1400x60x60 J
87. Speed of light is maximum in the following (out of 4 given media)

(1) water (2) glass (3) diamond (4) air
88. Average age of red blood cells (RBC) is approximately :

(1) one day (2) 30 days (3) 60 days (4) 120 days
89. On adding lime juice to distilled water its pH :

(1)  remains unchanged (2) becomes 7

(3) becomes less than 7 (4)  becomes more than 7
90. The valency shown by an element having atomic number 12 is :

1 1 2 2 (3) 4 4) ¢
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HAT-o

@ ueg-v (i) : fagm

81. ferelt wreaw & sqedi o :

(1) I HE T8I Bill (2) T BRIl

(3) M 131%ET1 ¥ FH B (4) HF 19 FH ¥
82. i wrerfier 41 € ¢

(1) e, 80 g dier (2) e, &0 T el

(3) B, del TS AR (4) ST, Ot TE e
83. ol gfa Hehe g ofifaess afe =61 geian § 2

(1) 3w (2) fogga g (3) fawerw (4) gty
84. < 3 wfeRly & Uk AR I HisH SH gd & ©9 W 5o I T 81 39 g4 & R =Aw F st

forgatl o wea gorelt wferiy grm -

(1) 0.5 =4 (2) 13 (3) 23 (4) 439
85. UH YoAIEdl ¥R i &9 Y& 0.01 THE H agordt ¢! $HHh! A © ¢

(1) 1Hz (2) 2Hz (3) 50 Hz (4) 100 Hz
86. 1% H1m?&s W forat g Sort wra grft 2 (WR frrdish = 1.4kW/ m?2) :

(1) 14001 ] (2) 1400%60 ] (3) 1.40x60x60] (4) 1400x%60x60 J
87. 71 4 wremdi | weprer &t G weg eferew we ¥ 2

1) wAH 2) wHaH 3) ®H (4) = gH
88. TS I HUN I AT T T T

1) = feA (2) 30 fe= 3) 60 fea 4) 120 fe
89. YA 5& H g 1 ¥ A W 59 pH :

(1) 3ufafdd @ 1 2) 7@

(3) 7@ FH DRI 4) 79 e B ¥
90. UHIY] SHHIh 12 916l Tl <l HATSThal & :

1 1 2 2 3) 4 4) 6
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91. Chemical formula for baking soda is :

(1) NaOH (2) NaHCO;4 (3) Ca (OH), (4) Na,COj4
92. Pure gold is :

(1) 1 carat gold (2) 18 carat gold (3) 22 carat gold (4) 24 carat gold
93. The agency responsible for running space research programmes in India is :

(1) IRS (2) UGC 3) ISRO " (4) TARI
94. The first Indian satellite sent to space was named :

(1)  Rohini - (2) Dhruv (3) AryaBhatt (4) Sputnik
95. In Hydrilla plant stomata are present :

(1) On stem (2)  On leaves

(3)  On both stem and leaves (4) No where as they are absent in Hydrilla
96. The excretory unit of kidney is :

(1) neuron (2)  hormone (3) photon (4) nephron
97. The author of the book "The origin of species” is :

(1) Charles Darwin (2) Lamarck

(3) J.D. Watson (4)  Weismann
98. The time period of geosynchronous satellite is :

(1)  One hour (2) Twelve Hours

(3)  Twenty-four hours (4)  One year
99. If we draw a V-I graph for a conductor (V=P.D. across the conductor and I = current flowing

through it) it will be as shown in figure.

i1 1] 1] 1]
i
M) @ ®) K )
V=F V—> V—> oy

100. AIDS is caused by :

(1) Fungus (2)  Virus (3) Bacterium (4)  Malnutrition
B.Ed. /2011
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91. @M % Tl T THEE G T :
(1) NaOH (2) NaHCO, (3) Ca (OH), (4) Na,CO,

92. VS IAE:
(1) 1% 9 (2) 18 T T (3) 22 FTE FH (4) 24 FH= T

93. YRA T 37afler v iRy el ol SU%H ©
(1) IRS (2) UGC (3) ISRO (4) TARI

94, ofaflel H SIH aTen Yord YRATT SUIE o
(1) fe (2 ¥ (3) e (4) ¥t

95. wEfganda # 2w da €
(1) ™= (2) faal W
(3) o Td uftEl S W (4) e T8I TR e Tlgen H SAUTEd Bid © |

96. FAF H IS THE © :
(1) A (2) BREA (3) THRHM (4) A

97. ‘T Siiftfe 37 o=’ & o © ¢
(1) =red erfad (2) MR (3) SLEL aEEA (4) dfgsEE

98. Y- oAHIfCTH IUUE I AEd HTA @
(1) U = (2) ¥REES (3) e He (4) TUwad

99. T FATH o fd V - [ U F91 TR 1 21 : (V= a1eteh o eAf=am fal W favaiar, 1= <ot & o)

M) ]Té o 'l / & | w !

V—r V—»r vV—s

100. AIDS 1 %R § :
(1) T (2) dEE (3) wFEIE (4)  FAm
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PART-B
SECTION-V (ii) : MATHEMATICS

1 1 1 1
= = & +orire + —=——— s :
101 Thevalueof 757 " 2+ V3 - V3 + V4 B+ oS

1 1 2 -1 3) 2 4) -2

102. The smallest number which is a perfect square and contains 7936 as a factor is :

(1) 264016 (2) 241606 (3) 246160 (4) 246016
1 1 1
1 h-c 1 Yb-a 1 Ye-b . .
103. The value of (xa—b ) X [xb—c ) X (xc_a J is :
1) 0 2 -1 G) 1 4) 2

104. A sum of Rs. 1200 is lent partly at 6% and partly at 4%. If the-total interest for 3% years be

Rs. 224, the amount lent at 6% is :
(I) Rs. 800 (2) Rs. 252 (3) Rs. 224 (4) Rs. 168

105. A’s share is to B’s share as 3 : 4 and B’s share is to C's share as 6 : 7. The ratio of the shares
of AtoCis:

1) 12:14 2) 9:12 3) 9:14 4) 4:6

106. The price of sugar increased by 25%. How much percent should a man decrease his
consumption so that there is no increase in his expenditure ?

(1) 25% 2) 20% 3) 15% 4) 10%

107. The list price of a penis Rs. 160. A customer buys it for Rs. 122.40. He gets two successive
discounts - one 10% and the other unknown. The rate of second discount is :

(1) 4% 2) 5% (3 6% (4 8%
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101.

102.

103.

104.

105.

106.

AT - &
Qug - V (i) : ToTE

. + 1 + L I S g,
1+42 V248 - N3Fd Bt o Ty
1) 1 2 -1 (3) 2 4) -2

B B H&AT S TH IO A 7 IR ST [UAEE 7936 €, TE®

(1) .264016 (2) 241606 (3) '246160 (4) 246016
1 1 1
1 —c 1 )b-a 1 -b 3
(o o <P
1 0 2 -1 G 1 4) 2

1200 9T F TR F 6% X TS 4% 9 W IUR & A T aﬁgéaﬁ#mwm
224 T B, T 6% =TT W YR < TE R R
(1) 800 ¥w (2) 252 ¥U (3) 224 TWU 4) 168 TU

A w1 oo oiR B o1 feemn 3: 4 IR B 1 fewmn s C a1 femm 6 : 7 %1 A @R C & o= o7um
B :

(1) 12:14 (2) 9:12 3) 9:14 4) 4:6
= o goa H 25% gfg & T8 1 Tk SAfH H1 1A wud fohan wfaera w9 ) < =l qife sweh
TaAgfgaa?

1) 25% ) 20% 3) 15% 4) 10%

T 9 T SifeRa HoT 160 TIC ¥ 1 IS WTEH $H F.122.40 H WHGH T 1 IH HEW: T T2 W Bt 7

107.

T 10% 3R THA T 1 9a1 76 &1 THA B R WL

1) 4% 2) 5% 3) 6% @) 8%
'B.Ed./2011
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108.

109.

110.

111.

112.

113.

114.

A man sells a toy for Rs. 80 more than he paid for it and realizes a profit equal to two-fifths
of its cost price. The cost price of the toy is :

(1) Rs. 300 (2) Rs. 250 . (3) Rs. 225 (4) Rs. 200

A train takes half an hour more to do a journey when it is running at 25 km an hour than
when it is running 30 km an hour. The length of the journey is :

(1) 200 km (2) 150 km (3) 100 km (4) 75 km

sin 27° e i cos 63°
cos 63° cos 27°

2
The value of ( ) —2sin 30° is:

1 2 2 -2 G) 1 4) -1

The value of 0 less than 90° which satisfy the equation 3 tan 6 + cot 6 =5 cosec 0 is :

(1) 30° (2) 45° 3) 60° 4)  15°

From the top of a building 60 metres high the angles of depression of the top and bottom of
a tower are observed to be 30° and 60°. The height of the tower is :

(1) 40 m 2) 403 m 3) 20 m 4) 203 m

The ages of 12 persons are given below
48, 42, 47, 43, 48, 56, 50, 56, 65, 56, 65, 60
The modal age is :

1) 65 2) 56 (3) 50 4) 60

A room 5 m long and 4 m wide is surrounded by a Verandah which occupies 22 sq m. The
width of the Verandah is :

1) 1m 2) 15m 3) 2m 4) 25m

.
gcollegedunlas
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108. T = o for goor T Reii wier S68 80 T 31 Hod T SR A ¥ 3R 9 A g
%%%WW‘IW%W%IT@&MWW%%:
(1) 300 ¥ (2) 250 ¥9Q (3) 225 ¥ (4) 200 ¥9Q
109. afe T& Yermet 25 foR. . wfa =1 1 wfa & =t o) g 30 et i sy = ufa @ v @
ffrem g T 0 | veel M s s sifvs wHE TR | Sy e e g fhe €
(1) 200 fe.. (2) 150 f.f. (3) 100 f&.#. 4) 75 fem.
i1 sin27°2+ cos 63° 2~25in30°$11:ﬂ'—7%'
0. (cos63°) (cos 27°) '
1 2 2 -2 G) 1 4) -1
111. 90° ¥ &H 0 1 T S FHIHIW 3 tan 0 + cot 6 =5 cosec 0 Tl TIL HT §, T8 ¢ :
(1) 30° (2) 45° (3) ~ 60° (4) 15°
112. 60 HieX S 9o & foreR 9 "R % Rrer &1 s1awma o1 3R HFR & q61 &1 6o HE: 30° 3R
60° ¥ 1 HHR Y S ¥ -
(1) 40 . (2) 403 (3) 20 . (4) 203
113. 12 =Afamai #t 3mg = R
48, 42, 47, 43, 48, 56, 50, 56, 65, 56, 65, 60
TG Y T :
1) 65 2) 56 (3) 50 (4) 60
114. T HA 5 HeX a1 3R 4 Hrex <rel € Forgen =1 ot ueh e € s 22 o Hex ¥ s &1 dies
3 ,
1) 1 ¥ 2) 1.5 X (3) 2 Hx (4) 2.5 Hx
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115. A cone and a cylinder are of the same height. Their radii of the bases are in the ratio of 2 : 1.
The ratio of their volumes is :

1) 2:3 2) 3:2 (3) 3:4 4) 4:3

116. A right circular cone is 8 cm high and the radius of the base is 2 cm. The cone is melted and
recast into a sphere. The diameter of the sphere is :

(1) 8 cm (2) 6cm (3) 4cm (4) 2cm

117. The mean of the following data is 20.6.

x 10 15 20 25 35
fi: 3 10 x 7 5
The missing frequency (x) is.
(1) 25 (2) 15 (3) 10 4) 8

118. If two coins are tossed once, the probability of getting at least one head is :

1 1
W 5 @ 5 ®) @ 7

119. If two of the vertices of a AABC are (1, 2), (4, 5) and (5, 3) is the centroids then the third
vertex of the triangle is :

(1) (10,2 2 (159 ®) 9 4) (153

120. The sum to n terms of an A.P is given by 31 +3n. The 5 term of the AP is :

1) 42 2) 36 3) 30 (4) 24

B.Ed./2011
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115. TH I 3 Tk FoiF i o THH € | 39 TR it Hansti § 2 : 1 1 S ua ¥ 1 9% 39a =l
W%:

(1) 2:3 (2) 3:2 3) 3:4 (4) 4:3

116. Tk T 3 8 DA, St ¥ 37 37uR &1 o 2 8. 81 v o1 Toeremme et o g s ¥
e 1 A ¢

(1) 8¥.Hn (2) 6" (3) 4 €. (4) 29

117. Tr=fafad stiewsi o1 @ 206 © -
x:10 15 20 25 35

f:3 10 x 7 5
(1) 25 2) 15 3) 10 4) 8
118. afc &1 faaen! &l Teh 1 IV ST € O & ¥ HH Tk T 1 9T & bl ifaehal & :

1 1 2 3
W 3 @ G) 3 4 5

119. afc T AABC & &1 ¥ (1, 2), (4, 5) 3R (5, 3) 35T shaeh &1 a1 Tt o1 oirey oid @ -

(1) (0, 2) 2) (159 G 69 4) (15 3)

120. TS TR 42 & 1 9€1 1 A0 302+ 3n fe g0 &1 qHiR J@ w59 Ug ®

1) 42 2) 36 (3) 30 4) 24
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PART-B
SECTION-V (iii) : SOCIAL SCIENCE

Choose the correct answer out of the four :

121. The most important kingdom in Deccan and Central India after the Maurya has that of
the : '
(1) Satvahans (2) Cholas (3) Pallavas (4) Pandyan
122. Alberuni came to India in :
(1) 9th Century AD (2) 10th Century AD
(3) 11th Century AD (4) 12t Century AD
123. The planning commission was set up in :
(1) March 1950 (2) March 1951  (3) April 1951 (4) April 1952
124. What is the consequence of the write of Habeas Corpus ?
(1) The person under detention is set free
(2)  The public servant is restrained from taking any action
(3)  The officer not competent to take certain action is told not to go ahead with the action
(4) More information is sought from the lower court
125. Which of the following river is called ‘Biological Desert” due to heavy population ?
(1) Brahmaputra (2) Ganga (3) Damodar (4) Yamuna
126. Which of the following foreign kings was not a contemporary of Ashoka ?
(1)  Antiochos Theos (2) Magas
(3) Ptolemy Philadelphos (4) Daurius II
127. Who is remembered as the pioneer of Economic Nationalism ?
(1) Bipin Chandar Pal (2) Gokhale
+(3) - R.C. Dutt (4) Madan Mohan Malviya
B:Ed./2011 4.
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HET-A
WUS-V (iii) : AWrETSS faA=
frafefaa =m foawed § | 781 3 g
121. T/ % q9=Td ¥ ST T YR § Faiiueh Hec el WA fohen o417

(1) wraared (2) & (3) Heod (4) TigHA

122. SoTarEAl YRd | 3774

(1) oFfwEed (2 A mWERF (3 NH v d @) DA wEE

123. ST STENT &1 TATIAT B8

(1) == 1950 (2) =rd 1951 (3) T¥a 1951 (4) 3l 1952

124, & YeAaiEor Anfedh a1 1 9o © 2
(1) oR=Er § T T At ) w@ad fHan s
(2) e U I HIE HRATE FHH F T ST
(3) S fiRT SiZ HRAE HH & U e ¥ 3 3T HRAE 7 HW & T Hgr 5w 7
@) oo = 9 eifus et 9T S

125. 9R SHEE & FR0 fEfataa 3 9 fog 78 ol Sdg qesad e S § 2
(1) s (2) T (3) wHEIR (4) =TT

126. Frafafea § 9 =@ @ foceh Ton swie &1 TreTeia T8l o1 ?
(1) wEEE faam (2) =™
(3) et frerSerEE (4) =fEai

127. snfels Tezeng & ol & w9 ¥ f69 g foman s & 2
(1) fafm=Ega™  (2) 7ed (3) SREEA (4) WA A
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128. Lapps inhabit :

(1) East Africa (2)  European Steppes

(3) South American grasslands (4) European Tundra
129. Candizeri Span is famous for :

(1) oil (2) oranges (3) cork (4)
130. Who is one of the propounders of the binary star theories ?

(1) Laplace (2) Kant (3) La-Pichon (4)
131. In which state was Panchayat Raj first introduced ?

(1)  Gujarat (2) Rajasthan (3) Bihar (4)
132. The electoral system of India is largely based on the pattern of :

(1) Britain (2) France (3) USA (4)
133. Monoculture is a typical characteristic of :

(1)  Shifting cultivation (2) Subsistence farming

(3)  Specialized horticulture (4) Commercial grain farming
134. Horse latitudes is the term applied to the :

(1) 0°=5° N and S latitudes (2) Polar circles

(3) 30°—40° N and S latitudes (4) 40"—60" N and S latitudes
B.Ed./2011
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128. 19 H 374 T :

(1) Yot sTshieht (2) T4 = A
(3) Eferor ST =REE (4) FE 2T

129. FEor 94 e fau ufag 82
(1) d= (2) Ha@ (3) ik (4) wfen

130. f=fafea & | &9 fg- smumr 9are fagial (e ©R A10s) &1 9fqqes © 2
(1) o (2) e (3) o fueie @) SR

131. &M H T T G TS To9 Teol SR 37 2

(1) TSR (2) TSTEE 3) faer (4) 7Yy ye

132. WX 1 FHafer qomet =9 w9 | g 39 & 9= W i € 2
(1) fae= (2) R (3) HgF oA i (4) T 9 FE TE

133. UshEwpfa feraent wora fagomn & 2
(1) gaH 2) frafead
() fafere am-Hu (4) @ FH

134. VI ST&IY 918 1 TANT fohann ST &
(1)  0°—5° 3T iR afaqolt stemen & oo
(2) e g % e
(3)  30°—40° 3T iR Tfamoft sraren & fow
(4)  40°—60° ST 3R farolt sreqivn & forw
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135. In the vedic period goghna refers to :
(1)  One who gifts cattle (2) One who siaughters cattle
(3) A guest (4)  The bridegroom
136. ‘Half an hour discussion’ can be raised in the house of parliament after giving notice to the :
(1)  Presiding officer of the house
(2)  The Secretary - General of the house
(3) he Secretary of the department of parliamentary affairs
(4)  Concerned minister
137. Fiscal policy is connected with :
(1) Exports and imports (2)  Public revenue and Expenditure
(3) Issue of currency (4) Population control
138. Who of the following was the first speaker of Lok Sabha ?
(1)  Hukum Singh (2) G.S. Dhilon
(3) G.V. Mavalankar (4) Ananthaswayanam Ayenger
139. Who amongst the following was impeached in England for Acts Committed as Governor
General of India ?
(1)  Weliesley (2) Cavendish Bentick
(3) Cornwallis (4) Warren Hastings
140. Which year is known as "Year of the Great divide” with regard to population growth in
India ?
(1) 1921 (2) 1947 (3) 1951 (4) None of these
B.Ed./2011
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135.

136.

137.

138.

139.

e Fer B e #7 o1e ¥
(1) % =afa S Y] T L 8 (2) o SAfH S 9y B B FE B

(3) TF Afafy (4) = (TR

Y Afeg 3 ¥ 91C 9O F 9 ° L oY e H ==l S TEAl ©

(1) 9gA &1 Jem™e sfusry (2) A F HEEiad
(3) Hudr & faum = wfam (4) Hafya T3

Tores A fred € § 2

(1) omam IR Faf (2) <R e IR T
(3) =1 (4) SEEE fEE

frfafea § @ $1F e o1 999 qege] o ?
(1) w4 fae (2) Sit.uE. fewl

(3) Sf.a. HeeiERT (4) SFFARITTH IR

YRT & T S o ®Y H 3799 hidl & fou seis # frefafea § 9 frg o geifaim geman man
1 ?

(1) oSt 2) wafew dfesw  (3) wHaTGE (4) 97 =T

140. 9Ra ® SwHEn gfg & Ty o g ad =1  weifaysH o ad’ e S R 2
(1) 1921 (2) 1947 (3) 1951 (4) T 9 % T
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PART-B
SECTION-V (iv) : ENGLISH

Choose the most appropriate response out of the four choices given after every question.

Each question carries one mark.

141. Which of the following words means the same as “desultory ?

(1) purposeful (2) planned (3)  stray
142. The antonym of “‘Abstemious’ is :

(1) festive (2)  hedonistic (3) boisterous
143. The antonym of ‘iota’ is :

(1) falsehood (2) scrap (3) molecule
144. A doctor who specialises in the treatment of the brain is called :

(1) ophthalmologist (2) cardiologist

(3) neurologist (4)  pulmonologist
145. Choose the correctly spelt word :

(1)  procide (2) proceed (3) procid
146. Choose the correctly spelt word :

(1) pronunciation (2) pronounciation (3) pronuncation
147. The indirect form of the sentence :

She said, “I have finished my work” is :

(1)  She said I have finished my work.

(2)  She said she have finished my work.

(3)  She said that she had finished her work.

(4)  She said she has finished my work.
148. Choose the correctly spelt word :

(1) inocuous (2) inocous (3) innocuous
B.Ed./2011 4¢

(4) connected
(4) frigid

(4) plethora

(4) procede

(4) pronouncation

(4) innocous
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149.

The indirect form of the sentence :

She asked her student “Have you done your homework ?” is :
(1)  She asked her student have you done your homework
(2)  She asked her student if she has done your homework
(3) She asked her student if she have done her homework

(4) She asked her student whether she had done her homework.

150. The passive voice of ‘someone stole her purse” is :
(1) A thief stole her purse.
(2) Her purse has been stolen by someone.
(3)  Her purse has been stolen by a thief.
(4) Her purse got stolen.
151. The active voice of ‘He has been sent to Canada by his company for training’ is :
(1) He has gone to Canada for training.
(2) His company sent him to Canada for training.
(3) His company has sent him to Canada for training.
(4) His company went to Canada for training.
152. The most appropriate word to fill in the blank in ‘They _come here next week.
(1) have (2)  will (3) had (4) has
153. The most appropriate word to fill in the blank is ‘I have not seen her ages’.
(1) since (2) for (3) tll (4) from
154. Desdemone was the heroine in which play of Shakespeare ?
(1) Hamlet (2) King Ler
(3) Merchant of Venue (4)  Othello
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155. Who wrote the poem ‘Ode on intimations of Immortality” ?
(1) Keats (2) Byron (3) Wordsworth (4)  Shelly
156. In which novel is Gabriel Oak the hero ?
(1) Far from the Madding crowd (2) Emma
(3) Mayor of Casterbridge (4) Return of the Nature
157. Who wrote the novel ‘Wuthering Heights” ?
(1) George Eliot (2)  Emily Bronte
(3) Charlotte Bronte (4) Jane Austen
158. The play ‘Desire under the Elino” was written by :
(1) Bernard Shaw (2) Samuel Beckett
(3) Eugene O'Neil (4) Shakespeare
159. In the sentence ‘Denmark is a country which is in Europe” _____
which is in Europe is a :
(I) Noun clause (2) Adjective clause
(3) Adverb clause (4) None of the above
160. ‘Ram, as well as Shyam, is an Engineer’ is a :
(1)  Simple sentence (2) Compound sentence
(3)  Complex sentence (4) Complex - Compound sentence
-00o0-
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WAT-o
Q[Us-V (v) : fe=t

U9 HEAT 161 W 165 fow fader .
= fe3 T e F A 9 ufed 3R I SUR W YP T WAl & Feiftad I Sife |

forger atve forat wfes sireHTe yanfed il € SoT &1 ST7eAT 61 Ot Sigdl ST |, snvmved- fawga g
S ¥ | ST TR ¥, SYG IEEIT ¥, 3wt § weft oft Frwared I oy e wehan ® 1 ST 8% Uk wof
1 FRal € - U9 wifew) T oy @ ot wR =nfee @ adigs ot Yo @ Tgel 3R SIS YEe SHaRR
STYeT TEAl § 1 UE e R gep F O Sie U9 SR IEE I © a1 o ge § S9 @R SR g A o
oot 91 werm 1 AR 1w T ) @R wifey, 3R g7 off f1.wened, wes iR onadt wra ¥ R gen | g% At
e ¥ ST 9 afes e 8 Ayl saEr 8 $ iR 1wt i yenfea g @

TST 3 A0} AraTeRy H e AfH Heryfa, agure iR dier @ | ® faeg w faerem ® i afz
I TIN H S a1 § a1 sAfer SRR B9 o © o we safan gerd saq IR 9 ol oHaer o 1@ § ?
e THT 1 310 8 2 AR STel SHer ¥ Jel sAfad THYl SHawR I Fasin i SN FR a9 g
AW ¥ 38w H e iR Siad § ' 9@ i achrd a8 o €

Y% Al Sad H ST ST 1Rl & W SHE Siad | < 2R gyt TE €1 Hifw 5%
SATCHETR ST oA o SN H Se © 1 ST W1 TSt o v iR T ® oiR 99 SHeR! wifed ®1 g
YIE] | AR S 1 TEE €| S W 9 bt wifeR, ufersan, Um o) wnf o) wfed €1y a%g @ ST
T BT E | S T 1 TOre € - videran, 1 o o -S| 9 b o € serelt feeeg 9
3T Yiidet ey | e A ¥

&9 wief % HreAw | $veR | g@ witw, wifs, 99 i gguE ot € a1 Wi e €1 89 ed © -
‘oAl W g THA | aHE w1 e | Uy ity e ® R eaw @ Cered’ A wa ©
‘o T SenfarE €1 v o1ae Ty | frerd 8 W € g iR et et gepdt ¥ T | € g ety
aferst frel ST € 1 T H ot sFrET 4T S5 1 8l YN0 <d ©§ T WU I Sd o 39 fRd B g5
FL| AT 3 Td F W E T iR W & o & e ¥ 9 o faudia e efi 3w % faad
STEHR o o9 H B A ¥ STEHER AR FFH O WeH T " A ufersan oiR yfg & wm W gyt @i
Sqfersian 371 TR €1 STafasan O WREH €1 YN % 95el TR o7 e § | F TR W T i< % agel sired
HRIY AT E | A I WEH B REH o A e W & AR W W Hes e 6 I g1 il
T W AR % STaA | FH, I, T, HIg, $1, FTEHR IR §9 H oes ¢

161. T T &1 ST Itk 1 T 2
(1) 3T9mvEd 2) frwEETm (3) oA w wWyH  (4)  vnf=d ot WP

162. % YR & U9 § Sieq § 9asTar 3 8 ?
(1)  3T9emgol (2) uETqol (3) ey (4)  erufesan ea
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163.

164.

165.

166.

167.

168.

169.

170.

171.
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(1) ™&H & T3 9 2 | (2)
(3)  STCEEY BT IMF<Aeny] hi | (4)

fdd & 3N9HUEA o1 O Fa BT © ?

(1) 3TEFHN AR fFR 9E 9| (2)
(3) eATHvIfaa o fasE | (4)
T ¥ frerd 1 o N aeTd ¥ 2

(1) =797 ¥ % TT9R & Y718 & |

(2) AT % TR TON T faeRTe ST |
(3) oA gU, EHR 3R YHEvE BIE <A
(4) T 3R A= 1 ATHE R

U9 WEAT 166 T 180 o foru ot :

& Tl vy 9 i |

5 & for enf=r siR g et e |

AT STra S el |

9. %amel e e 9

frefafad yeies 9o & e 91 =R =R fases e ™ €1 7 | 9 fawey gfu)

ST w1 gEred feg v § = ® 2
(1) fe< (2) =g

Ttz ford wfa ot $fa 272
(1) =fdH (2) v

Frafafag § 9 ramerd #1 FHfa wF 9 22
(1) Yem =i (2)  Feg

"I ST % ORgeh i ¢ 2

(3) W& (4)
(3) F=Hia (4)
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